= 10%
=
—~, 10°

=
o
N

III| [ TTI I| I IIIIIII| I IIIIIII| I IIIIIII| [ TTTTTH

=
o

1071

LQ_LQ,) +a(pp - v LQ

137 fb™* (13 TeV)

T IIIIIIII| IIIIIIII| I

I | LI I | I I I I I I I LI | I LI | LI I | LI I | I I I | I
CMS —— Observed 95% CL
------- Median expected 95% CL
=15 I 68% expected

] | 11 | | I | I | 11 | | 11 | | 11 | | 11 | | I I—I-

95% expected
— a(pp - LQ_ LQy)
+a(pp - V LQS)

I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| LI

06 0.8

1

1.2

1.4 16 18 2 22
m o [TeV]



	Contents
	Page 1


